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Calculator display

1 A list of various modes

2 B 2 (STAT) A list of options in STAT

“ , mode

3 1 (1I-VAR) A table to input values

4 | Input ,eaéh data value one at a time, pressing the = button after each entry.

5 | Once all the data is entered press AC 0

6 Shift 1 (STAT) A list Of options to choose
I:n 2:x ‘

7 4 (Var) *
3:0x 4:sx

Pressing 1 will display the number of data entries. Pressing 2 will display the
8 | meanand pressing 3 will display the standard deviation. (option 4 will not be

used)
9 ' 2 (X ) and then = 67,55 ,
10 To determine the standard deviation repeat steps 6,7 and 8 pressing 3 instead of
2 ,
1 3 (ox ) and then = 15,75
[2 & N AYD MAY fo M 2 MHR
3 Mep 4 Q
S A2
£ xgw P LE The table below shows the percentage distribution of the South

African population by province in 2010.

a) Determine the five number summary for the data in the table.
b) Draw a box and whisker plot for the data.
¢) Are there any outliers in the data?

a) 'You always have to write the data in order when dealing with a 5 number summary.

T2 | 6 [ 6 | 7 [ 1 | 1 [ 14 [ 21 | 22
Minimum Value: 2 |
Median: Position = —rﬂ——l: ?g_l =5..111is the median
+1 4+1 646 . v :
Lower Quartile: Position = n—z— = = =25 S 6 is the lower quartile
Upper Quartile: Position = median position+2,5=5+2,5=7,5

Ei—zl:w.s is the upper quartile
2

Maximum Value: 22
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2 4 6 8 10 11 12 14 16 17,518 19 20 21 23
1 0, 0,

¢ IQR=17,5-6=11,5
0, ——(I,SXIQR):6—(1,5><H,5):~l 1,25
O +(LSXIQR) =17,5+(1,5x]1 1,5)=34,75

There are no values less than —11,5 or greater than 34,75. Therefore, there are no
outliers in the data set. ' : '

5"/9%//&,5” 0F  DeTEAMInNG  0F @(ﬁ}/vg C ORAVE

5
10 15-5+10
35 50—15+35
40 90 - 50+40
o 20 110 - 90+ 20
10 120 > 110+10
AT
120
10 +
100 + Lower quartile position: 120X~ =30
: T Upper Quartile 4
Y %0 -+ ‘V =~ Jower quartile = 4, 5km (read off the graph)
§ 80 o
% 70 T - Median position: 12()><~2~ =00
Yot =t ) ’
m -.- i N
£ 60 Median - . median =5,2km (read off the graph)
g 4 -
g S0 T Upper quartile position: 12()><Z =90
: e NN
O Ed |
0 + . : < upper quartile = 6 km (read off the graph )
4 Lower Quartile . .
30 4 You can now calculate the inter-quartile range:
20 :: Inter-quartile range = Q05 - Q, =6-4,5=1,5km
10 “* /
LTE T DY s e L R AT B prifpnt s
X

. I
K T g < . - i ~
2 3 4 5 ¢ 7 4




The x-values are the actual lower quartile, median, and upper q{lartile times.

DOWJMQ%Q@@-H% tﬁeﬁﬁxﬂmﬁ'ﬁf%hxy%!%sdnﬁ upper quartile
Lower quartile position: l'72><i~ =43
~Aower quartile = 30 (read off the graph)
Median position: l72><—7[— =86
~.median =46 (read of} the graph)
Upper quartile position: 172 i—“ 129

. upper quartile = 62 (read off the graph)

LS7109% 7€ V] Ean/

0<T<20 21 0| 210
20<T <40 48 30 1440
40<T <60 56 50 2800
60<T<80 | 32 70 2240
80<T <100 10 90 900
100 <T <120 5 110 550
 Sum S f=172 S f.x=8140
814() NONE

.. Estimated mean =

Zf

- x =47 minutes

Do not get confused between the MEAN and the MEDIAN. The mean is |
the average value of a data set, while the median is the mlddle Value in an
ordered set of data.

In order to determine the exact posmon ()f the median the formula shown
below should be used. However, when working with ogives it is considered
accurate enough to divide the cumulative frequency by 2.

n+1
Position of mcdxan = ~~2~~
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QUESTION 1

Mary wants to buy a car and visits a popular website. She finds a number of advertisements for
the make of car that she would like to buy. She summarises the selling prices (in thousands of
rands) of the cars on sale in the cumulative frequency table below.

SELLING PRICE CUMULATIVE
(IN THOUSANDS OF RANDS) | FREQUENCY FREQUENCY
50 <x <60 3 3
60 <x <70 : 4 7
70 <x <80 a 14
80 <x <90 19 33
90 <x <100 12 h
100 <x <110 5 50
1.1 Write down the values of ¢ and b. 2)
1.2 Draw a cumulative frequency graph (ogive) of the data on the grid provided in the
ANSWER BOOK. 3)
1.3 Mary wants to spend a maximum of R95 000. Use the cumulative frequency graph
to estimate the number of cars that are on sale in the price range that M ary can afford. (N

Comgitesenved 00 Pl over
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QUESTION 2

2.1  Two classes wrote a Mathematics test that had a maximum mark of 60. The results of
cach class arc summarised in the box and whisker diagrams below.

O — [ ————e CLASS X
D — | ] ° CLASS Y

2.1.1 Comment on the skewness of the results in class X. (D
2.1.2 In which class is the standard deviation of the marks bigger? (1)
213 Comment on the average performance in the test of the two classes. Use
relevant statistics to support your argument. 2
2.2 The time, in minutes, that it took for the first goal to be scored in seven football

games was recorded. The times, in ascending order, are represented by a, b, ¢, d, e,
J and g in the table below.

a b ¢ d e J g

The following obscrvations were made about the data:

All these goals were scored at different times.

The minimum time for the first goal was 5 minutes.

The range of the times was 48 minutes.

The median time was 22 minutes.

The difference between the time at the lower quartile and the minimum time was
7 minutes.

e The IQR of the times was 28 minutes.

e  The mean time was 27 minutes.

¢ © e e o

e ¢=2c
2.2.1 Determine the values of a, b, ¢, d e, f and g. (8)
2272 If the standard deviation of the data set is 15,87 minutes, how many
goals were scored within ONE standard deviation of the mean time? (3)
[15]
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QUESTION 1

The 100™ Tour de France took place from 29 June 2013 to 21 July 20
of 21 stages of varying distances. The distance, in kil

the table below:

1.1

1.2

1.4

1.5

1.6

Copyright reserved
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13. The race was made up
ometres, covered in each stage is given in

Stage | Distance || Stage Distance || Stage | Distance
1 213 8 195 15 247
2 156 9 168 16 168
3 145 10 197 17 32
4 25 11 33 18 172
5 228 12 218 19 204
6 176 13 173 20 125
7 205 14 191 21 133

[Source: www.letour.fr.le-tour/2013/us]

Calculate the mean distance. 3)
Calculate the standard deviation of the distances. 2)
Determine the number of stages that lie beyond ONE standard deviation of the mean. (2)
The distance covered in each stage has been rearranged in ascending order and is
shown below. Determine the five-number summary of this data.

25 32 33 125 133 145 156

168 168 172 173 176 191 195

197 204 205 213 218 228 247 4
Use the scaled line provided in DIAGRAM SHEET 1 to draw a box and whisker
diagram to represent the distance covered in each stage. 2)
Are there any outliers in the data set? Explain. | 2)

(15]
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QUESTION 2

A manufacturer recorded how far a minibus taxi travels before it needs new tyres. He recorded
the distances, in 1 000s of kilometres, covered by a number of taxis that travelled the same
route. This information is shown in the cumulative frequency graph (ogive) below,

Cumulative frequency curve showing the distance travelled by
a minibus taxi before it needs new tyres

105 e e e NS
100 EL RS ONE

Cumulative Frequency

0 16 24 32
Distance travelled (in 1 000s of kilometres)

2.1 How many times did they record the distance travelled by a minibus taxi before it
needed new tyres? ()

22 Write down the modal class of the data, (D
2.3 Estimate the median distance travelled before new tyres are needed., (1

2.4 Estimate the inter-quartile range for this data. 3)
[6]

I
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CAPS — Grade 11

QUESTION 1

1.1 The number of delivery trucks making daily deliveries to neighbouring supermarkets,
Supermarket A and Supermarket B, in a two-week period are represented in the box-
and-whisker diagrams below.

‘; ———-—_‘
Supermarket
A B e e SO i ey
8 10 12 14 16 18 20 22 24 26 28 30 32 34 36
—— e
Supermarket ®—
B

[ e i B e e e JSNRNI: WPAUC WUUEE S S WO TR SR U SHSY SO S S S T S
L T T T i i i T T { ¥ i i i 1 4

4 6 8 10 12 14 16 18 20 22 24 26 28 30 32 34 36

[.1.1 Calculate the interquartile range of the data for Supermarket A. (2)
1.1.2 Describe the skewness in the data of Supermarket A. (1)
[.1.3 Calculate the range of the data for Supermarket B. (2)
1.1.4 During the two-week period, which supermarket receives 25 or more
deliveries per day on more days? Explain your answer. 2)
1.2 The number of delivery trucks that made deliveries to Supermarket A each day during

the two-week period was recorded. The data is shown below.

100115120 x 130 (35153132121 x | 27128129

If the mean of the number of delivery trucks that made deliveries to supermarket A is
24,5 during these two weeks, calculate the value of x. 3)

[10]

I
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CAPS — Grade 1|

QUESTION 2

DBE/November 2014

The 2012 Summer Olympic Games was held in London. The average daily temperature, in
degrees Celsius, was recorded for the duration of the Games. A cumulative frequency graph
(ogive) of this data is shown below.

-
Cumulative frequency graph of average daily temperature
recorded
30
Y e
25 ———
g 20
g ,
g LYo
10
S | //
. A
17 19 21 23 25 27 29 31 33 35
Average daily temperature (in degrees Celsius)
2.1 Over how many days was the 2012 Summer Olympic Games held?
2.2 Estimate the percentage of days that the average daily temperature was less
than 24 °C,
2.3 Complete the frequency table for the data on DIAGRAM SHEET 1.
24 Hence, use the grid provided on DIAGRAM SHEET | to draw a frequency polygon

of the data.

T

Please turn over
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QUESTION 1

The following table represents the heights, in centimetres, of 120 boys in a school.

B HEIGHT (cm) FREQUENCY
150 < x <155 4
155 <x <160 22
160 < x < 165 56
165 <x <170 32
170 <x <175 6
1.1 Complete the cumulative frequency table in the SPECIAL ANSWER BOOK, 2)
1.2 Draw an ogive, using the diagram in the SPECIAL ANSWER BOOK, to represent
the information in the table, 4
1.3 Determine, using the ogive, the five number summary. (5

1.4 If the distribution of the data is represented by means of a box whisker diagram,
comment on the spread of the data. (hH

QUESTION 2

The following is a sample of weekly wages earned by ten people working for a small
printing and design company.

R2250 R2250 R3000 R3300 R3 300

R3 600 R3900 R4350 R4 350 R5250
2.1 Calculate the mean weekly wage. 2)
2.2 Calculate the standard deviation of the weekly wage. )

2.3 Determine the percentage of workers which lie within ONE standard deviation of
the mean. 4)

[71

Copyright reserved Please turn over
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QUESTION 1 November 2915

The table below shows the weight (to the nearest kilogram) of each of the 27 participants in
a weight-loss programme. ‘

s6 | 68 | 69 | 71 | 71 | 72| 82 | 84 | 85

88 | 89 | 90 | 92 | 93 | 94 | 96 P 97 | 99

102 | 103 | 127 | 128 | 134 | 135 | 137 144 | 156

L1 Calculate the range of the data.

1.2 Write down the mode of the data, )

13 . Determine the median of the data,

1.4 Determine the interquartile range of the data.

1.5 Use the number line provided in the ANSWER BOOK to draw a box and whisker
diagram for the data above. )

1.6 Determine the standard deviation of the data.

1.7 The person weighing 127 kg states that she weighs more than one standard deviation
above the mean. Do you agree with this person? Motivate your answer with
calculations. '

QUESTION 2

The table below shows the weight (in grams) that each of the 27 participants in the weight-loss
programme Jost in total over the first 4 weeks. ~

2.1

22

2.3

WEIGHT LOSS
OVER 4 WEEKS FREQUENCY
(IN GRAMS) :
1000<x<1500 2 e
1500 <x<2000 . 3
2000 <x <2 500 3
2500 <x <3 000 4
3000 <x <3500 5
3500 <x <4 000 7
4000 <x <4 500 2
4500 <x<5 000 I

Estimate the average wgight loss, in grams, of the participants over the first 4 weeks.
Draw an ogive (curﬁulative freQuenéy graph) of the data on the grid provided.
The weight-loss programme guarantees a loss of 800 g per week if a person follows

the programme without cheating. Hence, determine how many of the participants had
an average weight loss of 800 g or more per week over the first 4 weeks.

@
M
I
©)

@

o8

©)
(14]

@
@

)
8
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asses during a charity

NSC ~ Grade 11

QUESTION 1
The table below shows the number of cans of food collected by 9 cl
drive.

8 15 20 25 27 31 36 75
1.1 Calculate the range of the data.
1.2 Calculate the standard deviation of the data.
1.3 Determine the median of the data.
1.4 Determine the interquartile range of the data.

1.5 Use the number line provided in the ANSWER BOOK to draw a box and whisker
diagram for the data above.

1.6 Describe the skewness of the data.
1.7 Identify outliers, if any exist, for the above data.
QUESTION 2
The table below shows the time (in minutes) that 200 learners spent on their cellphones during
a school day.
TIME SPENT
(IN MINUTES) FREQUENCY

95<x<105 15

105 <x <115 27

115 <x <125 43

125 <x <135 52

135 <x <145 28

145 <x <155 21

155 <x <165 10

165 <x <175 4
2.1 Complete the cumulative frequency column in the table provided in the ANSWER

BOOK.

2.2 Draw a cumulative frequency graph (ogive) of the data on the grid provided.
23 Use the cumulative frequency graph to determine the value of the lower quartile.
2.4 Determine, from the cumulative frequency graph, the number of learners who used

their cellphones for more than 140 minutes.

Copyright reserved
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Mr Ngwane is the sales manager for a furniture shop. Every month his 15 staff
members report on the number of customers who visited during the previous month.

The results were given as follows:

12 15 15 19 22 23 26 26 32 33 33 33 33 35

1.1 Determine the:
1.1.1  median of the data
1.1.2  interquartile range
1.1.3  mean of the data
1.14  standard deviation of the data.

‘12 Determine the percentage of customers who visited the furniture shop that are
outside one standard deviation of the mean.

QUESTION 2

A group of learners wrote a standardised English test that was scored out of 60. The
results were represented in a cumulative frequency graph below.

Cummulative frequency for the marks obtained
80 :

&0

- 70
ﬁ g
SBhvroreprsic

&0

un
]
)

o
(]

Cummulative Frequency
o

(2]
L]

20

10

0 10 20 30 40 50 50 70
Marks obtained

2.1 How many learners wrote the test?
2.2 How many learners scored at least 20 out of 60?

2.3 Using the graph, estimate the median test score.

35

(M
&)
@)
)

)
[11]

(1)

(2)
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5 MATHEMATICS P2 (EC/NOVEMBER 2016)
2.4 Complete the frequency table below using the SPECIAL ANSWER BOOK
provided.
Marks obtained Frequency
0<x<10
10<x<20
20<x<30
30<x<40
40<x<50
50<x<60 (5)
2.5 Write down the modal group. (h
[11]
QUESTION 1 (l)BE—.’/NWE‘ MEBEAL 2.0 /7)
1.1 Mr Brown conducted a survey on the amount of airtime (in rands) EACH student had
on his or her cellphone. He summarised the data in the box and whisker diagram

below,

10 12 14 16 18 20 22 24 26 28 30 32 34 36 35 40 42 41 45 25 50 5 54 56 58 60 62 64 66

1.1.1 Write down the five-number summary of the data. (2)

1.1.2 Determine the interquartile range. ()

L.L1.3 .~ Comment on the skewness of the data. ()
1.2 A group of 13 students indicated how long it took (in hours) before their cellphone

batteries required recharging. The information is given in the table below.

5 8 10 17 20 29 32 48 50 3 50 63 y 107

1.2.1 Calculate the value of y if the mean for this data set is 41. 2).
122 If y=94, calculate the standard deviation of the data. e
1.23 The mean time before another group of 6 students needed to recharge the

batteries of their cellphones was 18 hours. Combine these groups and

calculate the overall mean time needed for these two groups to recharge

the batteries of their cellphones. 3)
[10]
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CAPS ~ Grade 11

QUESTION 1

A school held a sports day. One of the items on the programme was an obstacle race. Teams of
10 parents and learners participated in this race. The table below shows the time taken, in
minutes, by each member of a particular team to complete the race.

1.1 How long, in minutes, did it take for the fastest member of this team to complete
the race?

1.2 Determine the mean time taken by this team.

1.3 Calculate the standard deviation for the data.

1.4 How many members of the team completed the obstacle race outside of two standard
deviations of the mean?

1.5 It took another team a total time of x+5 minutes to complete the race. Calculate the
value of x if the overall mean of the two teams combined was 18 minutes,

QUESTION 2

2.1 A survey was conducted of the ages of players at a soccer tournament. The results are

shown in the cumulative frequency graph (ogive) below.

Cumulative frequency

Cumulative frequency graph of the ages of soccer players

50 —"fﬁl“, EUES IO Do LT b S T YT P

0 5 10 15 20 25 30 35 40

DBE/November 2018

Ages of soccer players

(M
@)
0y




Downloaded from Stanmorephysics.com

2.11

2.1.2

2.1.3

2.14

Mathematics/P2

2.2

How many players took part in the soccer tournament? @)
Determine the number of players between the ages of 24 and 31 years old. 2)

Complete the frequency column of the table below in the ANSWER
BOOK.

CLASS | FREQUENCY | CUMULATIVE
INTERVAL - FREQUENCY
15<x <20 . A
20<x <25 | 13
25<x <30 : 37
30<x<35 | W
 35<x<40 | 50 &)

Use the grid provided in the ANSWER BOOK to draw a frequency
polygon for the data. 4)

5

o DBE/November 2018
CAPS ~ Grade 11

Two Grade 11 Mathematics classes have the same number of learners. The five-

number summaries of the marks obtained by these classes for a test are shown below.

CLASSA (30 ;48 ;65 ;82 ; 90)

CLASSB (50 ;58;65;75; 90)

The parents of learners in CLASS A and CLASS B observe that both classes have the

se.une medl'an and the same maximum mark and thercfore claim that there is no
difference in the performance between these classes.

Do you agree with this claim? Use at least TWO different arguments to justify your

answer.

()
[13]
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NOTE:

e If a candidate answers a question TWICE, only mark the FIRST attempt.

e Ifacandidate has crossed out an attempt of a question and not redone the question, mark the
crossed out version.

e Consistent accuracy applies in ALL aspects of the marking memorandum.

e Assuming answers/values in order to solve a problem is NOT acceptable.

QUESTION 1
a > 408 /41—0;
R _
Mean = T"'—l—g-" = 21,47 v answer
2)
1.2 Standard deviation = 7,81 ¥’ ¥ answer
@
1.3 The one standard deviation limits are (¥ — 1o ;X +10)
=(21,47-17,81; 21,47 +7,81)= (13,66 ; 29,28) v interval
. 13 people lie within 1 standard deviation of the mean. ¥'13 people .
1.4 5 12 13 15 18 18 19 20 v Q=18
21 22 23 23 29 33 35 37 v Q;=26
IQR=26-18 YIQR=8
=8
3
15 ¥ v'box
° —__{ }——~———0 v'whiskers
I I | I [ | ! ] ! I
45 8 12 1618 2021 2426 28 32 3637 40 3
16 There is a marked difference between the lowest value (5) and the
next lowest value (12) whilst the differences between all other data | v'reason
points are within at most 3 values. ¥'5 is an outlier
' @
.. 5 is an outlier [14]

Copyright reserved Please turn over
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NSC — Grade 11 Exemplar — Memorandum
QUESTION 2
2.1
Cumulative
Class Frequency frequency
0<m<2 7 7
v first three
2sm<4 15 2 cumulative
4<m<6 26 48 frequencies
correct
6<m<8 29 71 ¥'remainder
8<m<10 36 113 correct (total =
160)
10sm<12 31 144 93]
12<m<14 14 158
14<m<16 2 160
22 160
150
¥ grounding at 0
140 v'plotting
130 cumulanye
frequencies at
120 upper limits
¥ smooth shape
110 of curve
3
100
Z 90
g
s 80
2 7
3
S ===
50 e e
bt B "“"""“E—'
40 :
30
20
10 =5
0
0123456 7 8 9 10111213 141516
Number of sms messages
Copyright reserved Please turn over
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2.3 The median for the data is approximately 8 messages. v Median
M
24 Approximately 130 learners sent 11 or fewer messages. Therefore v'30 learners
30 learners sent more than 11 messages. v answer
30 4 100% =18,75%
160
@
2.5 Skewed to the left or negatively skewed v answer
0]
91

Copyright reserved Please turn over
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DPIAGRAM SHEET 1
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QUESTION 3.1 P (0, 0) o
1

Interval | Frequency Cumulative frequency
0<xd10 | 2 2 )
10<x k20| 7 1TV
20 < x € 30 | 14 23 ) -
30 <x <40/ 12 35 ) W
40 < x 450/ 5 yo

QUESTION 3.2:
c 50
w45
40
5 35
V30
A%
E /
.28 v 7
R
R 20 /
3 15 /
E
10
[
Y
)
0 20 30 40 S0 60 7
b Iﬁ MARKS
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NOTE:

e Ifacandidate answers a question TWICE, only mark the FIRST attempt.

e If a candidate has crossed out an attempt of a question and not redone the question, mark the
crossed out version.

o  Consistent accuracy applies in ALL aspects of the marking memorandum.

¢ Assuming answers/values in order to solve a problem is NOT acceptable.

LET WEL:

o Indien 'n kandidaat 'n vraag twee keer beantwoord, merk slegs die eerste poging.

o [ndien 'n kandidaat 'n antwoord doodgetrek het, maar nie oorgedoen het nie, merk die
doodgetrekte antwoord.

e Volgehoue akkuraatheid geld in ALLE aspekte van die memorandum.

o Aanname van antwoorde/waardes om 'n probleem op te los, is ONaanvaarbaar.

QUESTION/VRAAG 1
1.1.1 } IQR (A)=30-20 v 30-20
=10 v 10
2
1.1.2 | Data of Supermarket A is skewed to the left/Data van Supermark | v
A is skeef na links. comment/kommentaar
OR
Negatively skewed/negatief skeef €8]
1.1.3 | Range/Omvang (B) =35-6 v 35-6
: =29 v 29
@
1.1.4 | Supermarket A ¥ correct choice/
o Supermarket A received 25 or more deliveries on more than 7 regte keuse
days whilst Supermarket B received 25 or more deliverieson | ¥ reason/rede
less than 7 days/ Supermark A het op meer as 7 dae 25 of meer (2)
aflewerings ontvang terwyl Supermark B op minder as 7 dae
soveel aflewerings ontvang het.
1.2 X =245
2x+293
2x ;—4293 =245 v X
2% +293 =343 v 2x+293 =343
2x =50
x=25 v 25
©)
{19]
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Mathematics/P2/Wiskunde/V2 3

CAPS/KAB} —Memorandum

DBE/November 2014

QUESTION/VRAAG 2
2.1 | 28 days/dae ¥ answ/antw
O]
2.2 |12 days v No. of days/
. 12100 getal dae
28
= 42,86% v’ percentage/
persentasie
Accept/danvaar 12,5 days which is/dae, wat gelyk is aan 44,64%
OR
Accept/danvaar 13 days which is/dae, wat gelyk is aan 46,43%
; @
2.3
Temperature, T, in Fre
degrees Celsius requency
19<T<2] , 2 Y 2andlen6
21<T<23 6 v 9andlens
23<T<25 9 andren
25<T<27 5
27<T<29 4 v 4andlen?2
29<T<31 2
&)
2.4
FREQUENCY POLYGON
0
* ¥ anchored at /
9 geanker by
8 (18;0)
/ and/en
7 / (32;0)
v oo
points at
5 6 / midpoints/
5 5 punte by
] middelpunte
= 4 ¥ straight lines
3 joining pts/
reguitlyne
2 verbind punte
1 ¥ all points
plotted/
0 - alle punte
17 19 21 23 25 27 28 31 33 35 geplot
Average daily temperature (in degrees Celsius) (€Y
f10]
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NOTE:

o [facandidate answered a question TWICE, mark only the FIRST attempt.

o Ifacandidate crossed out an answer and did not redo it, mark the crossed-
‘s Consistent accuracy applies to ALL aspects of the marking memorandum.

e Assuming values/answers in order to solve a problem is unacceptable.

LET WEL:

out answer.

o As ‘nkandidaat 'n vraag TWEE keer beantwoord het, sien slegs die EERSTE poging na.
o As ‘n.kandidaat 'n antwoord deurgehaal en nie corgedoen het nie, sien die deurgehaalde

antwoord na.

o Volgehoue akkuraatheid is op ALLE aspekte van die memorandum van toepassing.
o Ditis onaanvaarbaar om waardes/antwoorde aan te neem om 'n probleem op te los.

QUESTION/VRAAG 1

56 68 69 71 71 72 82 84 85

88 89 90 92 93 94 96 97 99

102 | 103 | 127 | 128 | 134 | 135 | 137 | 144 | 156

1.1 | Range/Omvang =156 — 56

v max —~min

=100 kg v’ answer/antw
@
1.2 | Mode/Modus =71 kg v answer/antw
109]
1.3 | Median/Mediaan = T,,= 93 kg v answer/antw (1)
141Q;=T7=82 v Q=82
Qs =Tan =127 v Q3 =127
IQR=Q3: - Qu
=127-82
=45kg v’ answer/antw
€)]
1.5
v box/mond
,______.‘ t I______. v whiskers/snor
5}) éO 7.0 8‘0 9'0 160 1;0 léO 1;0 l‘lﬂ) 1;0 1&0 @
1.6 | SD=25,838 ~ 25,84 kg v'v" answer/antw
@
1.7 x =98,59 v x=98,59
X +10=98,59 +25,84
= 124,43 kg v 124,43
127> 124,43
- I agree with this person/Ek stem met die persoon saam. v conclusion/
gevolgtrekking
)]
{14]
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Mathematics/P2/Wiskunde V2 3 DBE/November 2015
CAPS/KABV - Grade/Graad 11 —~ Memorandum
QUESTION/VRAAG 2
WEIGHT LOSS
OVER 4 WEEKS FREQUENCY CUMULATIVE
GEWIGSVERLIES FREKWENSIE KUMULATIEWE
IN 4 WEKE f f
(IN GRAMS/GRAM)
1000<x<1500 2 2
1500 <x<2000 3 5
2000 <x <2500 3 8
2500 <x<3000 4 12
3000<x<3500 5 17
3500<x<4000 7 24
4000 <x<4500 2 26
4500 <x<5000 1 27
2.1 Average/Gemiddelde = 1250%2+1750 x2?7+ e +4750x1
81250
T o7 v 81250
=3009,259 ~ 3009,26 g ¥ answer/antw
— 2
OGIVE/OGIEF ¥ grounded
28 , ‘; upperllir‘nits
2 : d cumulative
g% frequency
% z /.’ v smooth
& 22 7 curve
¥ 20 +
g 18 /-
ERE ~
S 14 A v geanker
12 ,’ v boonste
g 10 Z limiete
% s // v kumulatiewe
E 6 -~ Jfrekwensie
2, g v gladde
- A kurwe
-
E o P il
Q Q 500 1000 1500 2000 2500 3000 3500 4000 4500 5000
Weight loss (in grams) over 4 weeks/
{ Gewigsverlies (in gram) in 4 weke 4)
2.3 | (3200 ; 14) ~ 14
27 — 14 = 13 participants/deelnemers (accept/aanvaar: 12— 14) v 13
#)]

8]
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NOTE:

e Ifacandidate answered a question TWICE, mark only the FIRST attempt.

e Ifacandidate crossed out an answer and did not redo it, mark the crossed-out answer.
e  Consistent accuracy applies to ALL aspects of the marking memorandum.

e Assuming values/answers in order to solve a problem is unacceptable.

LET WEL:

o As 'n kandidaat 'n vraag TWEE keer beanrwoord het, sien slegs die EERSTE poging na.

e As 'm kandidaat 'n antwoord deurgehaal en nie oorgedoen het nie, sien die deurgehaalde
antwoord na.

e Volgehoue akkuraatheid is op ALLE aspekte van die memorandum van toepassing.

o Dit is onaanvaarbaar om waardes/antwoorde te veronderstel om 'n probleem op te los.

QUESTION/VRAAG 1

ls|8[15}20]25|27]31}36|75|

1.1 | Range/Omvang =75 -5

=70 v answer/antw
M
1.2 | Std dev/Std afwyking = 19,56 v Y answer/antw
@)
1.3 | Median/Mediaan =25 v answer/antw (1)
1.4 v Q=115
Q1=8+15=11’5 Q
v Qs=33,5
0, = 31+36 =335
IQR=Q;3 - Q;
=335-115 v answer/antw
=22 (3)
1.5

v’ whiskers/snor

5 10 15 20 25 30 35 40 45 50 55 60 65 70 75

v'min and max (maks)

(3)

1.6 | Skewed to the right/skeef na regs ¥ answer/antw
Positively skewed/positief skeef ()

1.7 | Outlier/uitskieter = 75 v answer/antw

OR/OF 33.5 + 1.5(22) = 66.5

Outlier/uitskieter = 75 v answer/antw (1)

[12]
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Mathematics/P2/Wiskunde V2 3 DBE/November 2016
CAPS/KABYV — Grade/Graad 11 — Memorandum
QUESTION/VRAAG?2
2 TIME SPENT/ CUMULATIVE
TYD SPANDEER FREQUENCY | FREQUENCY/
FREKWENSIE | KUMULATIEWE
(IN MINUTES/ f FREKWENSIE
MINUTE) r
95 <x <105 15 15
105<x<1I5 27 42
115<x<125 43 85
125 <x =135 52 137 v'¥'correct CF values/
135<x<145 28 165 korrekte KF-waardes
145 <x <155 21 186
155 <x <165 10 196
165 <x <175 4 200 )
22
OGIVE/OGIEF
240
220 vy
200 o 8 points correct
180 7 OR/OF
g 160 4
& 4 v
g 140 4-7 points correct
$ 120
f‘ OR/OF ¥
g 100 1 1-3 points correct
S g ¢
I
60
40 . 3)
A8l
20 AR
0 AR |
0 200 40 60 80 100 120 140 160 180 200
Time spent on cellphone
2.3 =118 v v answer/antw
Accept any answer between (115 and 120) @
2.4 Number of learners / Getal leerders =200 -150 v 150
‘ =50 V50
' @
Accept 150 or any other reading between (145 and 155) 9]
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NOTE:

e Ifacandidate answered a question TWICE, mark only the FIRST attempt.

e Ifacandidate crossed out an answer and did not redo it, mark the crossed-out answer.
¢~ Consistent accuracy applies to ALL aspects of the marking guidelines.

o  Assuming values/answers in order to solve a problem is unacceptable.

LET WEL:

e As 'n kandidaat 'n vraag TWEE keer beantwoord het, sien slegs die EERSTE poging na.
o As ‘n kandidaat 'n amtwoord deurgehaal en nie oorgedoen het wie, sien die deurgehaalde

antwoord na.

o Volgehoue akkuraatheid is op ALLE aspekte van die nasienriglyne van toepassing.
s Dit is onaanvaarbaar om waardes/antwoorde te veronderstel om ‘n probleem op te los.

QUESTION/VRAAG 1

10 12 14 16 18 20 22 24 26 28 30 32 34 36 38 40 42 44 46 48 50 52 54 56 58 60 62 64 66

1.1.1 | min=12 ¥ min + max
0, =17 ¥ median, Q) andlen Q,
median/ mediaan = 30 @
Q, =38
max =65
112 | IOR=0,-0, v answer/antw
=38-17 6]
=21
1.1.3 | Skewed to the right OR positively skewed v answer/antw
) Skeef na regs OF positief skeef : )]
5 T8 J10 117 J20 J29 [ 32 | 48 | 50 150, [63 |¥ 107 |
121 Mean/Gemiddeld = 43?;})
439+y k v n=239+y
H=—m 13
13
439+y=>533 v answet/antw
y=94 )
122 | 6=30,94 v’ answer/antw
€]
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Mathematics P2/ Wiskunde V2 3 DBE/November 2017
CAPS/KABYV ~ Grade/Graad 11 — Marking guidelines/Nasienriglyne
123 41x13 =533
V108

6x18 =108

¥ 5334108=641
v’ answer/antw

533+108 641 3)
22271300 D 3374
19 19 {10
QUESTION/VRAAG 2
2.1 CUMULATIVE
AGE OF PERSON FREQUENCY/
SURVEYED/OUDERDOM FREQUENCY/FREKWENSIE KUMULATIEWE
VAN PERSOON IN OPNAME FREKWENSIE
20<x<30 7 7
30 <x<40 20 27
40<x<50 25 52
50 <x <60 12 64
60<x<70 72 v 20,12
70 <x<80 76 j g,z 4
80 <x <90 80 V76
G}
22 {n=80 v answ/antw
)
23 140<x<50 v answ/antw
W
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24
Ogive/Ogief

90 ¥ Grounding (20; 0)

1Geanker by (20, 0}
80 v upper limits/

b limiete
70

' v shape
(smooth curve)/
260 vorm
/ (gladde kurwe}

3
$50 ®
Ry

d
240
K ;
g 30
-
20
.
&
210
kS
K d
=
S0
“ o 10 20 30 40 50 60 70 8 90 100
Age of person surveyed/Ouderdom van persoon in opname
25 | 80-58=22 Acceptaanvaar: 56 — 59 calls/oproepe v's8
22 calls/oproepe
—x100=275% ¥'22
80 v 27,5%
3)
[12]
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CAPS/KABV - Grade/Graad 11 - Memorandum

QUESTION/VRAAG 2

(s - T ———
i
}

umulative frequency gra

ph of the ages
kkerspelers se ouderdomme

of soccer players/

50

Kumulatiewe frekwensie ~grufiek van so
. ; > ;

!
% N Jo £
] i e e s
N
2
-
]
S 301
S £
x It
3
=, | e
5 A
g 20 -
@ t
i =l "
i = -
[ =
; At
3 w i
| 2 10
{ = . e
i El ; -
3 i i B 06 0 S G i e s e :
0 LMY Lok R o R s T S o ok . B 5 -
20 25 30 35 40

4
iﬂ 0 5 10 15
3
|

Ages of soccer players/ Ouderdomme van sokkerspelers

T51.1 150 players/ spelers

"7 answer/ antwoord

; . M
40— 10 = 30 players/ spelers VaGand/ en 10
v answer/ antwoord
........... @1
" Class intervall | Frequency/ Cumulative ¢ towo correct
1 Klus interval Frekwensie frequency 0 COTT
! ~! Kumulatiewe values/ twee
§ T frekwensie korrekte waardes
: 13 x<20 4 4
l TS x € 38 TG 13 v three correct values/
\ 75<x<30 HE 55 drie korrekte wagrdes
F 30sx<35 | 10 47 v all cotrect values/
LRSS T DE— 3 50 al die waardes korrek
} 3)
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Mathematics/P2/Wiskunde V2 4 DBE/MNovember 2018
CAPS/KABYV ~ Grade/Graad 11 - Memorandum
|| Class interval/ Class midpoint/ Frequency/
Klas- interval | Klas- middelpunt Frekwensie. b
15<x<20 17,5 ; 4
1 20<x<25 22,5 9
125<x<30 27,5 ) 24
T30<x<35 o N 10,
[S5x<t0 375 S
Frequency polygon of the ages of soceer players/ i
; Frekyen;ig— vge(lxqel; van sokkerspelers se oudernume Ly using midpoints
" S UEAENEENUSGNNERENREA) |/ gebruik ;
' middelpunte
20 | ¥plotting the
N ‘points correctly/
¥ ¥ :
! korrekte punte
: § 15 0 1 geplot ?
£ . b »
T 10 | vpoints joined by
= " straight line/ punfe
E ; | verbind inet ‘r
% 5 reguitiyn »
R EAEEmunpLiRERENEED ¥ grounding at/
0 bbbl ogdol ARBHE S LAk geanker by
0 5 10 15 20 25 30 (12,5;0) and/ en
Ages of soccer players/ Ouderdomme van sokkerspelers (42,5;0) ;
@
575 T The claim is not valid. / Die bewering is nie geldig nie TV clatm not valid/
| Range of class/ Omvang van klas A =60 bewe,"”"? e
1 geldig nie

| Range of class/ Omvang van kas B =40

The range of class A is bigger than the range of class B. Therefore the
marks of class A are more spread out than the class B./

Die omvang van klas 4 is groter a8 die omvang van Klas B. Dus is die punte
- in kas A meer verspreid as klas B

At least 25% of class A have lower marks than any learher in class B./
tenminste 25% van Has A'het laer punte as enige leerder in klas B.

v comment on the'
overall spread/
kommentaar 0or
die algehele

verspreiding

| v comparison of

Copyright reserved/Kopiereg voorbehau

| the lower marks/
Class A performed worse at the bottom end. / | vergelyk laer punte .
Kias 4 het slegter gevorder aan die onderste groep ‘ (3);
131

Please turn over/Blaai om asseblief




Downloaded from Stanmorephysics.com

Matheatics/PUP ikundd 72

'QUESTION/VRAAG 2

3

CAPSKABY = Grade/Grond 11 = Mesoranduny.

DBE/MNovember 2018

fativefrsquency graphiof the agesof soceer players/

Frekweiisic -grafiel visok

W

rspielirs se onderdomine y

i
R PO
T

 requency! Kimulutiowe frekwensie

10 15

20 25

3

0

35 40

Ages ofsoccer players! Ouderdonime vin sokkerspeters

3 2‘1 1

OEPARTVENT OF
. EDUCATION
m@y&manﬁﬂ:ss.n«nom@;pou :

BASIC

Vanswer antivoord

)]

} players/spelers

| APPROVED MARKING GUIDELINE |

2.1‘3 ‘j

740 and/ en 10
answetl antwoord

P B e AR TTOR

Klusintervil

}'C‘!ass'jntevrv:ﬁ/

“Frequency/
Frekwensie

frequency
Kumulatiewe:
Jrekivensie

Cunniliitive

i

4.

13

24

3

10

47

[

50

£4 tWo comrect

HKorrékee waardes

+ thiree cotrect valies/
driekorrekieowaardes: |

@

values/ hwee

" all correct values/
al die waardes korrek: |

&8

Mathematics/ P W skuidle #2 4

CAPSKABV = Grade/Grand 115 Memorandum

DBEMNovember 2018

Classmidpoint! | Frequéncy/
4 Blis=aniddelpiont Frekivensie
1175 4
1225 Y
275 . e
32,5 110
35 3.

EPARTMENT OF BABIC *
T G ATION .

o

08 121
APPROVED MARKING GUIDELINE

PRIVATE HAG X033, PRETORWA0GUT
PUBLIC EXAMINATION

Frequency/ Frelwensie

10 17

e B L L A +-

Frequency polygon of the agés of soccer players/
Erekwensie- veelhoek vansokkerspélers se ouderimme

¥"using midpoints
1-gebruik
middelpinte
Vplotting the

points. correctly/
korrekie punte

| geplot

V'poinits joined by
straight line/ punte
verbind met »
reguitlyn

v .grounding at/

7.

geanker by

o0 5 io 1S 20 25 30 35 40
Ages of soccer players! Ouderdosmie visk sokkerspelers

{ I?,S’;O)}and/ en
{42,5:0)

“

Lz

g

The clainvis notvalid:/ Die-bewering is nie geldig nie

Range of class/ Omvang van klus &= 80

Rangeof elass/ Omvang van klas B =40

The range of ¢lass A is bigger than the range of class B. Therefore the
marks of class A are more spread but thai the class BY

Die omvang vanklas A is groterus die omvang vawklas B: Dus is die purte
inklas A meer-verspreidaskas B

At feast 25% of class A have tower marks thanany learnerin class B./

Vaer niriste 25%van klas A het-daer punte as-enige leerder in-Klas B.

Class A performed worse:at the bottor end. /
Klas A hetslegter gevorder-aan die ondersie groep

vclaim not valid/
bewering nie
geldignie

v ‘comment on'the
oyerall spread/

Ffommentaar ook

die algehele
verspreiding

v scomparison of.
the lower marks/
vergelyk-laer punte
3)
[13]




